Material Control		    Cost and Management Accounting
Set IV		CAP II
Q.N.1 A company has the option to procure a particular material from two sources:
Source I assures that defectives will not be more than 2% of supplied quantity. Source II does not give any assurance, but on the basis of past experience of supplies received from it, it is observed that defective percentage is 2.8%.
The material is supplied in lots of 1,000 units. Source II supplies the lot at a price, which is lower by ` 100 as compared to Source I. The defective units of material can be rectified for use at a cost of Rs. 5 per unit.
You are required to find out which of the two sources is more economical
Q.N.2 IPL Limited uses a small casting in one of its finished products. The castings are purchased from a foundry. IPL Limited purchases 54,000 castings per year at a cost of Rs.800 per casting.
The castings are used evenly throughout the year in the production process on a 360-day-per-year basis. The company estimates that it costs Rs.9,000 to place a single purchase order and about `300 to carry one casting in inventory for a year. The high carrying costs result from the need to keep the castings in carefully controlled temperature and humidity conditions, and from the high cost of insurance.
Delivery from the foundry generally takes 6 days, but it can take as much as 10 days. The days of delivery time and percentage of their occurrence are shown in the following tabulation:
Delivery time (days) : 			6	 7	 8 	9 	10
Percentage of occurrence : 			75 	10	 5	 5	 5
Required:
(i) Compute the economic order quantity (EOQ).
(ii) Assume the company is willing to assume a 15% risk of being out of stock. What would be the safety stock? The re-order point?
 (iii) Assume the company is willing to assume a 5% risk of being out of stock. What would be the safety stock? The re-order point?
(iv) Assume 5% stock-out risk. What would be the total cost of ordering and carrying inventory for one year?
(v) Refer to the original data. Assume that using process re-engineering the company reduces its cost of placing a purchase order to only `600. In addition company estimates that when the waste and inefficiency caused by inventories are considered, the true cost of carrying a unit in stock is Rs.720 per year.
(a) Compute the new EOQ.
(b) How frequently would the company be placing an order, as compared to the old purchasing policy?
Q.N.3 A company manufactures a product from a raw material, which is purchased at Rs.60 per kg. The company incurs a handling cost of` Rs.360 plus freight of  Rs.390 per order. The incremental carrying cost of inventory of raw material is Rs.0.50 per kg. per month. In addition, the cost of working capital finance on the investment in inventory of raw material is Rs.9 per kg. per annum. The annual production of the product is 1,00,000 units and 2.5 units are obtained from one kg of raw material.
Required
(i) Calculate the economic order quantity of raw materials.
(ii) Advise, how frequently orders for procurement should be placed.
(iii) If the company proposes to rationalize placement of orders on quarterly basis, what percentage of discount in the price of raw materials should be negotiated?

Q.N.4 Raw materials ‘AXE’ costing Rs. 150 per kg. and ‘BXE’ costing Rs.90 per kg. are mixed in equal proportions for making product ‘A’. The loss of material in processing works out to 25% of the product. The production expenses are allocated at 40% of direct material cost. The end product is priced with a margin of 20% over the total cost.
Material ‘BXE’ is not easily available and substitute raw material ‘CXE’ has been found for ‘BXE’ costing Rs.75 per kg. It is required to keep the proportion of this substitute material in the mixture as low as possible and at the same time maintain the selling price of the end product at existing level and ensure the same quantum of profit as at present.
You are required to compute the ratio of the mix of the raw materials ‘AXE’ and ‘CXE

Question No.5 Honourable Ltd. produces a product which a quarterly demand of 30,000 units. Each unit of the product requires 1.5 kg. of raw material. The cost of placing one order for raw material is Rs. 1,000 and the inventory carrying cost per kg. per annum is Rs. 2. The lead time for procurement of raw material is 24 days and a safety stock of 8,000 kg. of raw materials is maintained by the company. The company has been able to negotiate the following discount structure with the raw material supplier. 
Order quantity (kg.)					 Discount (Rs.)
 Upto 60,000 						NIL
 60,001 – 80,000 					4,000 
80,001 – 1,60,000 					20,000 
1,60,001 – 3,00,000 					32,000 
3,00,001 – 4,50,000 					40,000 
You are required to
 (i) Calculate the re-order point taking 30 days in a month.  (Ans.20,000 Kg)
(ii) Prepare a statement showing the total cost of procurement and storage of raw material after considering the discount of the company elects to place one, two, four or six orders in the year. 
(iii)State the number of orders which the company should place to minimise the costs after taking EOQ also into consideration. (Ans.14 orders)

Question No.6 Aditya Ltd. is engaged in heavy engineering works on the basis of job order received from industrial customers. The company has received a job order of making turbine from a power generating company. Below are some details of stores receipts and issues of copper wire, used in the manufacturing of turbine: 
Feb. 1 Opening stock of 1,200 Kgs. @ Rs. 475 per kg. 
Feb. 5 Issued 975 kgs. to mechanical division vide material requisition no. Mec 09/13 
Feb. 6 Received 3,500 kgs. @ Rs. 460 per kg vide purchase order no. 159/2013 
Feb. 7 Issued 2,400 kgs. to electrical division vide material requisition no. Ele 012/13 
Feb. 9 Returned to stores 475 kgs. by electrical division against material requisition no. Ele 012/13. 
Feb. 15 Received 1,800 kgs. @ Rs. 480 per kg. vide purchase order no. 161/ 2013 
Feb. 17 Returned to supplier 140 kgs. out of quantity received vide purchase order no. 161/2013. 
Feb. 20 Issued 1,900 kgs. to electrical division vide material requisition no. Ele 165/ 2013 
On 28th February, 2014 it was found that 180 kgs. of wire was fraudulently misappropriated by the stores assistant and never recovered by the company. 
From the above information you are required to prepare the Stock Ledger account using ‘Weighted Average’ method of valuing the issues. 

Question No.7 RTC Limited uses chemical-X in one of its finished products. The chemical-X is purchased from a vendor outside India. RTC Limited purchases 36,000 ltr of chemical-X per year at the rate of Rs.900 per ltr plus import duty @10% on such purchases. 
The chemical-X is used evenly throughout the year in the production process on a 360-day-per-year basis. The company incurs Rs. 1,75,000 on one year agreement for material supply with the vendor and it estimates that Rs. 35,000 will be incurred to place a single purchase order. The chemical-X is needed to be kept in a very carefully controlled temperature and humidity conditions. RTC Ltd. incurs 1.5% and 0.2676% of the value of inventory as storage cost and as insurance cost respectively. Delivery from the vendor generally takes 12 days, but it can take as much as 16 days. The days of delivery time and percentage of their occurrence are shown in the following tabulation: 
Delivery time (days) : 		12 	13 	14	 15 	16 
Percentage of occurrence : 	70	 10 	10	 5 	5 
Required: 
(i) Compute the economic order quantity (EOQ).  (Ans.12,000 Ltr)
(ii) Assume the company is willing to assume a 10% risk of being out of stock. What would be the safety stock? The re-order point? (Safety stock 200 ltr and Reorder level-1400 ltr)
(iii) Assume 5% stock-out risk. What would be the total cost of ordering and carrying inventory for one year? (Ans: 215,250)
Question No.8 From the following data for the year ended 31st December 2011, calculate the inventory turnover ratio of the two items and put forward your comments on them:
Material A		 Material B
Opening Stock  1.1.2011 				10,000 			9,000
Purchase during the year				52,000			27000
Closing stock 31.12.2011				6,000			11,000
(Ans: Inventory Turnover Ratio 7, 2.5 times and Inventory Turnover 52 days and 146 days)
Question No.9 The following transactions in respect of material Y occurred during the six months ended 30th June, 2012: 
Month		 Purchase (units) 		Price per unit(Rs) 	Issued units(Rs) 
January 		200 				25 			Nill 
February 		300 				24 			250 
March 			425				 26			 300
 April			 475 				23 			550 
May 			500 				25 			800 
June 			600 				20 			400
 The chief accountant argues that the value of closing stock remains the same no matter which method of pricing of material issues is used. Do you agree? Why or why not? Detailed stores ledgers are not required.
Question No.10  Assume the following quantity discount schedule for a particular bearing available to a retail store:
Order size				Discount
   0-49					0
  50 – 99 				5%
 100 – 199 				10%
 200 and above 			12%
The cost of the single bearings with no discount is Rs.30. The annual demand is 250 units. Ordering cost is Rs.20 per order and an annual inventory carrying cost is Rs.4 per unit. Determine the optimal order quantity and the associated minimal total cost of inventory and purchasing cost, if shortages are not allowed.

Reasons for shortage and discrepancies: 
1. Wastage of material due to spoilage, breakages, evaporation etc. it may be normal or abnormal. 
2. Theft or pilferage.
 3. Issued but not entered in stock card.
 4. Over issues. 
5. Entering the issue in the wrong stock card.
 6. Clerical errors in balancing or posting etc. 
7. Incorrect entries in stock card.
 8. Goods received and deposited in the wrong bins.
 9. Small defective units – nails, screws etc. 
10. Purchase in kgs. but issues to production in numbers i.e. bolts, nuts etc. 
Recommended course of action to prevent future losses
1. The entries should be correctly entered in stock cards. 
2. Internal check system should be introduced by double checking on the entries. 
3. Entry in the stores should be restricted to authorized persons only. 
4. To avoid pilferage, the store room should be well guarded and protected. (Just like cash room). 
5. Proper accounting should be done for all stock movements.
6. FIFO system should be followed while issuing materials (pricing of issue of materials may be a different method). This will avoid losses due to deterioration or obsolescence. 
7. All issues of stock should be made on the basis of stores requisition duly signed by authorised person. 
8. To minimise losses due to breakage in case of heavy and bulky materials, materials handling equipment like forklift trucks and cranes should be provided.
9. Wrong issues should be avoided by accurate measuring and weighing equipment should be inspected / checked periodically. 
10. Proper storage conditions should be provided, particularly in the case of perishable items and items of lesser shelf life.
11. No movement of materials from one place to another place without proper authorisation and documentation.

